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Mathematical Literacy NSC Common Test March 2017

INSTRUCTIONS AND INFORMATION
1. This question paper consists of THREE questions. Answer ALL the questions.

2. Answer QUESTION 3.2.2 on the attached ANSWERSHEET. Write your NAME in the
spaces provided and hand it in with your ANSWER BOOK.

3. Number the answers correctly according to the numbering system used in this question
paper.

4, Start EACH question on a NEW page.

5. You may use an approved calculator (non-programmable and non-graphical), unless
stated otherwise.

6. Show ALL the calculations clearly.

7. Round ALL the final answers off appropriately according to the given context, unless
stated otherwise.

8. Indicate units of measurement, where applicable.

9. Write neatly and legibly.
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QUESTION 1

1.1 Ethan is a grade 10 learner at Premier High School. There is a total of 1 140 learners
at his school. TABLE 1 below shows the number of learners and their gender in each
of the grades at his school. Some of the data has been omitted.

TABLE 1: The number of learners at Premier High School in terms of grade and

cender
FEMALES TOTAL
140 292
140 A
144 267
120 209
79 B 127
C ' 1140

Study TABLE 1 and answer the questions that follow:

1.1.1  Determine the missing values:

@ A @
® B @
© ¢ | @

1.1.2  Calculate the total number of males as a percentage of the total number of learners in
the school. 3)

1.1.3  Write down the ratio number of males: number of females in grade 9 in simplified
form. 3)

1.1.4  The Grade 12 learners are going on an excursion, Determine how many buses the school
should hire to transport the learners, if each bus has seating capacity for 60 passengers.
Show all calculations. (3)

1.1.5 Government regulation states that to determine the minimum number of teachers
employed at a school the ratio 1: 35 should be used.

Determine the minimum number of teachers that should be employed at the school.
Show all calculations. 3)
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Ethan’s grandmother bought him a laptop on hire purchase for his birthday.

NN A AV

Save R610!
New price: R4 989 -
Hire purchase: Deposit R499 + R262 x 30

House & Home

£ SAHARA %
Microsoft Windows 1 o

1.2.1 Calculate the original price of the laptop.
1.2.2  Determine the deposit as a percentage new price.

1.2.3  Determine the total price paid for the laptop, if bought on hire-purchase.
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Please keep your till slip
As proof of purchase

5
QUESTION 2
2.1 Theresa would like to make fresh fruit salad and ice-cream for desert. She purchased
some goods at her local store Pricerite. She obtained the till slip below:
‘...‘.l'.ll'.ii.lt lllllllll D..0-00’.'!’Dl"otbl-'!l.b'i!l’!i:
PRICFRITE : Fruit Salad
: HOMESTEAD
: TEL No: 086 123 3221 :
{ Tax Invoice VAT No. 4412126157 :
! PINEAPPLE R6,99* ;
i GOVERMTBAG24L R0,50 :
! GOVERMT BAG 24 L R0,50 :
i BANANAS 6’S R11,99* :
: ICE-CREAM 1,5L R36,99 :
! MANGO 1’S R6,89% :
i GRENADILLA 110g R16,99 ;
i PEACHES 450g R16,99 :
: MANGO 1°8 R6,89% :
{ MANGO 1’8 R6,89% :
! APPLES R15,99* :
: LEMON per kg R6,49% :
{ PAW-PAW 1S R15,00% :
i 14 BALANCE DUE R163,99
i CASH ROUNDING ;
: CASH R200,00
: CHANGE R36,05
i Cashier: Lindiwe Gumede :
, Rate Yat Total
P14,00% 8,84 71,97 !
P 00,00% 0,00 92,02 :
C0043 10:51:00  18-01-17

R P Y Y T N Y essesansserstsarerr e teerade

2.1.1  Write down the number of mangoes purchased.

2.1.2  Determine the simplified ratio of the volume of ice-cream : volume of plastic bag.
2.1.3  State one reason why VAT was not paid on some items.

2.1.4  Calculate the cost per litre of ice-cream.

2.1.5 Did Theresa pay for her goods in the morning or afternoon?

2.1.6  State why cash rounding is done in stores.

2.1.7 Theresa took 20 minutes to travel home after paying for her goods.
At what time did she get home?
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QUESTION 3

3.1 Mr Morai is the athletic coach at his school, and
he sent one of his athletes on a training run.

The athlete started his run at 07:00 and arrived
at the finish line at the time on the clock

alongside.
3.1.1 Write down the time on the clock. )
3.1.2 Determine the total time, in minutes, of the athlete’s training run. 3)
3.2 Mr Morai bought R60,00 airtime for his cell phone. His cell phone provider charges

him a rate of R1,80 per minute. The call rate is based on a per second billing from the
first second.,

The TABLE 2 below shows the cost for calls lasting a different number of seconds.

TABLE 2: Cost of cell-phone call

Number of
seconds

Cost in Cents 0 90 X |180 270 | 300 | 360 | 540 | 720

0 30 45 60 90 Y 120 | 180 | 240

3.2.1 Determine the value of X and Y (5)

3.2.2  Use the axes provided on the ANSWER SHEET to draw a line graph that illustrates
the data in TABLE 2. 4)
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3.3 Mr Morai the athletics coach decides to purchase concentrated energy drinks to dilute
and give to his athletes. The dilution instruction on an energy sports drink is 1: 4.
The concentrated sports drink is sold in1,5 £ bottles.

3.3.1 Explain what is meant by this dilution factor. (2)

3.3.2  Calculate how many litres of diluted sports drink Mr Morai would make if
1,5 of concentrated sports drink is diluted as per instruction. (3)

3.3.3 The diluted drink is served in glasses with a capacity of 250 ml.
Determine how many full glasses of diluted sports drink can be poured from
using!,5 £ of concentrated drink. 4)

3.3.4  One of the athletes decides to mix 3,5 cups of concentrate with 15 cups of water.

Determine showing all calculations, whether or not the drink will taste
the same as it would if made according to the dilution instruction given

on the bottle. 4)
127]

TOTAL: 75
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GRADE 10

COST OF CELL-PHONE CALLS

800

750

700

650

600

550

300

>N
W
<

Cost in cents
N
fan)
<

250

200

150

100

50
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30

60

90

120

Time in seconds

150

180

210

240
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- 3
No Soiution Explaunation L
114 | 127 112
’ 1 = Y
Number of buses = —-¥M 1 M dividing correct | L3 .
=2,1166 ...v A w&ca
=3 /R 1 A answer
1R for rounding
_wamﬂﬂ. only full marks _
1.15 1 140 12
s - T 4\
Number of teachers 3 M 1M dividing correct 13
=3257... va values
=3 1 A answer
YR IR for rounding
| Answer only full marks ||
) . 3)
12.1 | Original Price = R4986,00 + R610,00 vYM/A 1 M/A adding correct L1
=R5599 sa values
1 A answer
w Answer only fall marks _
2
122 s 1 A for 499 12
2. . 496 A for .
Percentage deposit = 7985 x 100% VM 1 M mulfiplying by 100
= i0% vCA 1CA for answer
Mvﬂwﬁs. only foll marks _
3|
1.2.3 | Hire purchase =R499 + R262 x 30 YA 1 A for identification i2
=R459% + R7860 vM/A 1 M/A product
=R8359 va 1A answer
mgnn only full marks w
‘ 3}
26}
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4 . B
QUESTION 2 [22 MARKS]
Ne _ Setution Explanation L
211 |3 YA 24 comrect mumber of | 11
mangoes .
4 2
IM/A reading correct L2
. VM/A, S
212 | 1,5:24  valees
=1:16 VA IA simpiification
: )
213 | InSouth Africa fresh fruit and vegetables are VAT free | 20 opinion
. VO - L4
items - 2)
TVM/A 12
2.14 | Costper litre ice-cream = % IMY/A. correct values.
= R24,66 v A 1A answer
@)
. , L1
215 | momingvvA 24 .
2)
2.1.6 |1 and?2 cent coins have been discontimued T 20 opinion L4
. - 2)
YM/A YA .
2.1.7 i 20 minates after 10:51 =11:19 IM/A adding 20 minutes | L1
OR 1A, for correct time
19 mintes pass 11 |Answer only full marks |
2)
221 |R250 VVRG 2RG L2
@ @
221 |R6250 YYRG 2RG 12
o) {Aiccept any value
between R60 and R65) -
3]
221 |5 vvRG 2RG @1z
(2
222 | The more people that travel in the car the less the { 20 opinion L&
transport cest per persen VO 2)
22}




W) syod o Surmof |
Aposuxco panord simod moy v
{0 0)1e s vi
SPHO3S U MY,
ovT olt 081 0¢1 0z1 06 09 0t
2 ° ©
7 oS rmf«ﬂ_ [y A{uo 1Msuy
=== 00t BHUSEE VT VA SpuGOSS 0] =
\wﬁh oSt sonjeA T
3093300 SUIPIAIP 20, =
=7 007 UIPLAIP 203 V/INT 0t A
AT 0sT v
7 00¢ IOMSTR YT /S0 GET =
7 UOISIOATIOD D] clo' x SPU0DSS S = X | 176
S ~ 0st o €1 uomestdnmm x| o 081 Wi
i 0ov &
= 057 3 ®
00s 1MSUR YOI V), SOUmIZY =
7~ T SIPMUILI OF UOISIBAUOS J0] D O, SHIRIWIZZ + SANUIW (9 =
- ose uonemp Jor | W SOIMUIW 77 4+ 3Y [ =JWH EIOL | T1¢
e 009
= @
= 059 Vrr w7z
# 004 ¥0
ot VA2 3o0p,0 g ssed spnuut 77
008 11
30
TTE Wi 199100 YT Yrr TT8OITTE
1 STIVD ENOHJ-TTID 40 LS0D
1 ueHn{og ON 1 zopeneidxy uoynjog oN
ISSTIVIN LT € NOLISHNO
9 <
L10T YOIBI IS3 | Tounuo) JSN {WnpURICUIAIAL} A0RISHTT [RINBWIREIA L10T YOIRN 1S3 ] HOWHIO ) JSN {QIRpURIOUISIA ) A5RISIIT [RORRIAIEN




=
-

Mathematical Literacy (Memorandum) NSC Common Test March 2017
7 .
Ne Soiutien Explanation L
3.3.1 | Forevery 1 part of concentrated energy add 4 parts of 20 explanation L4
YO ¥
water @
vM/A JA o ]
332 115Cadd 4x1,5iwater = 1,5¢ + 6 ¢ 1 M/A multiplying 4 by | L3
=751 YA . 1.5
. 1 A product of &
1A answer
) 3)
333 |75¢=75x1000mt Y€ 1C conversion to mt L3
=7500mé vA . 1A formf -
v 7 500
=l "V .
Number of glasses 350, M 1M dividing
=30 vCA 1CA answer
. @
4\.§\ A Co .
33.4. }3,5cups add 4 x 3,5 cups water 1 M/A multiplying4 by | L4
=35+ 14 35
=17,5 cups dituted drink /5 1A simplification
No. It will taste different since there is more. éwﬁm?\ VO 20 conclusion
OR : )
3,5: 15VM/A 1MI/A correct ratio
1434 | 1A simplification
No. T will tasic different since there is more water.v V0 20 conclusion @ ‘
127]

TOTAL:7S
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